=t & £
AR EA S &
JICPa=7HYrvEYIhyT AEHEEA BRRYT—HE
KEeE4d BRELBAFPEERYT—RFEXRS
Hegs s = -3 A B B 1 B eEmsU- RsSTA
13 BEER H25 | 8] 19 10:15 a—+ A
F—L% F—L%
— # & 0 — 6
ﬁ‘EF (F% 0 — 5) ﬁﬂE
th gk #®E 0 — 1) ch s
( FEWUR ) E K — ( BHER)
FF No K £ G|Y|R FEH No K % G|Y|R
x 1 =R £& x 1 ED BEKX
11 2 xE # 20 2 NIl BE
8 3 A —H x 3 BRER  BRA
x 4 R I8 21 4 I NG
x 5 Ik &t x 5 BEaS BR4&E
x 6 S$H A x 6 F FHt
9 7 KER KR 23 7 AF R
15 8 H #Hz x 8 B REHE
x 9 R E—ER 10 9 ESZ S E7IE
29 10 EH £A 11 10 EX EFE
x 11 wR & x 11 BIE #hth
12 12 =ik X 16 12 ®’ikE B3
e KER B e B fE—
T IALT EHx O FUINAT AT HEE
ST R % JHE—TF7 A7 WE ==
T. O. PUE S il Y% EIE
F-L | B5RE [N |EE| 277 7-L | B5R9 [N | EE| 277 F-L | B5R9 [N |2 | 277
&A 2 1|F6 | 0-1 )= 25 olFg | 0-6
&A 7 1|Fe | 0-2
&A 10 | 11lpc | 0-3
&A 1 11|F6 | 0-4
&A 12 olrc | 0-5

<fEE>



AXHE

JICP a=FAHYEYIHAYT
KE4 FRELBXRGEERYS—RFIEXRS

%

AHHEEA BERRYT—He

Hegs s = -3 A B B R 1 B eEmsU- RsSTA
14 B R H25 | 8| 19 10:15 a— b
F—L% F—L%
# a8 71 - 4
—_ V.S
2 @k 5 — 3 ) S
==l S (#BE 2 — 1) mafes o
( BIEER) E K — ( KRR )
FF No. K £ G|Y|R FEH No. K % G|Y|R
x 1 TER 0 x 1 KF &3
x 2 HLE #BX x 2 fE Ez2N
x 3 Sl K&F 25 x 3 L FRzN
x 4 R TE x 4 =% B3
5 e —# x 5 XKE #
x 6 EE EX x 6 ik KAR
x 7 TH KB 7 Bk AKX
19 8 HEH 3 10 8 mWAR fin
9 EAR fin 10 9 KIE BX
28 10 AR —#t 10 Hha K&
11 EAH EA 11 KO GEX
12 ISTN £ 12 T BE
e MBS BT B #F EH
FURLT RABE XB FoIAT WH
SxyT FO St JH—TF A7 %% B
T. O. -5 & Y% EIE
F-L | B5R | No. | FE| R37 F-L | B5R [ No. | FE | A7 F-L | B5RE | No | EE| 237
-% 2 4|PS 1-0 Al 11 9(FG 3-3 E il 22 5(FG 7-4
Sl 3 41FG 1-1 1-% 13 3[PC 4-3
—% 8 41FG 2-1 —% 15+ 3[PS 5-3
Sl 10 5(PC 2-2 1-% 17 3[PC 6-3
—% 1 7|FG 3-2 1-% 19 2|FG 7-3

<fEE>






